goo

obooooobooooboobobooooooo

gboogoboooboobooboobooboobobboo

e JOOOOODOODOOODOO
ubogbogoobooooabo

3
> A;B; = A\By + A3By + A3B;
=1

oooooooXxoogn

AlBl = AlBl + A2B2 + A3B3

oobooooobooooooobooobooobooobooboooboOoooboobooobooboooboooonog
ooooooo M;;00000

3
Z M;jA; = My Aj = M Ay + Mg Ay + Mz A3
j=1

googd
gbooboobooobooboooo

3 3
A;Bi=A;B; () AiBi=)_ A;B))
i=1 =1
ogoooooooon
3 3

ij=1 ij=1

gboooboooobooboooooboooon
goooboboooboboooogoboooon

e I0OOODOODOO
O00o00o0o0oo00o é;0

dij=1(i=j), 65 =0 (i #j)

goooboooobobooooo Ioogoooooboooobooogo



a. - = 77_1 :07
Jrq Jxa (9933 Oxa
goooooogoon
ox;
7%:51..
81‘]' J
oogoood
goooooood
0000000000 e 0
6123262312:6231:‘1'1’ 62132613226321:_1 (Gijk:ekijZEjki:_ejik:_eikj:_iji)
000000000000000000000 (e112=€212=---=0000000000000000O0

ogboooobooo

(X xXY)i = €juX; Vs

gboooboobooooot
oood

0000030000000000000000D0000D0000O00O0 e; (:=1,2,3)00000000
oood

a =ajey + azes + azes

O0000Oay,a0,a3 00000000000O0DO 10000 (00D0)000000ODOOOOOOO

61'61262~62:63'e3:1, 61'62:61'63262~63:O

0000000000000000(000000)00000000000000 e;-e;=4,;0000
bbb« y00b00000boboooboobooooooobooooboooobooooboooDog
boboobobooobooboooooboooobooboobooboooboooon

e Xey=e3, €3 Xe —ey, ez X ez =e;

00000000000000000 e;xXe; =€ ze, 000000
0000000000000000000000 (000000000)000000000000000
(00D0D0D000000000000000O0OOO)O

00000 et)0000



da _ da; da d da;

V= = (vzﬁza(aiei)_ﬁe’ v;e;)
000 VOOO Fz)0O0O

oF
F=e—-
Vv eaxi

0 0 0

VF(z) = ae -e,—F(x) =604 —F(x) = ai— F
a-VF(x) =ae; e]axj (x) 5”%8% (x) al@xi (x)

obooooOooboooooboboooooboooogo

e OO
goobboooobboooooobbbooobobboooobboooobDooooboooOooo
o0oo0o0o0oooboooobobooobooobObo0ooDbOb0o0ooUbDbOoooooDbObooOooo
goooboooobbboooooooooboboooboobboooobbboooooooon
gooooooooobooooooboooooobooo
000000000 (Do0oo0)00000o000o0o0o0o0oo00o0o0oo0oUoUoooUoooooo
doooooooooooooooooooooobobb oo boooooooooo
0000000000000 0000000000000000 (continuum) 000000
goobdoogooobbbooooobboodoodooob bbb oo oooDo oo
goobbooboooobbboooobbbooobb bbb bobboogo
0000000 (0000000000 OoO0O00)OD0O00DU0DOO0OO0O0OU0DUUDOODOOODUODODOOO
00000000000o00o000oU0ooo00 (00 POOOOODOOOOOOOOOO)OODOOO
doooooooooboooood
0000000000000 bObooooOooo
000000000000 O00 (material particle) D000 (00 O 0O material point) 000000000
goboooobboboobbbooobobboooubbooobbboobbbooobbooooo
000 (00000000000 00U00O00C0oO0UD)DooO0UO0OU0DOOoUDOooOOoUOoOoUooO
gooobooooooboooooobuoooooooooooon
odoooo0obobob0oo0oobbo0ooobDbo0ooobDboooUobDboooobD0ooobObooOooo
0000000000000 00000 (D0o00DUo0o0O0oUooO0OOooDoooUoooooo)o
000000000 b0o0o0ob0bo0o0oobObooobDbo0o0oDbO0o0oUbOboo0obOoO Moo o
VOoOUOOOO p0 p=m/VOIO0O0OU0DO0OOO0OO0OOO00O0O0OO0 QUUOOOOOOOOOOOOO
00000000000 p(e,t) 000000000000 (xk00000000O¢t00O0)0DO0DO0O0OOO
QUO00D0O00O0ODOU0OD0D0OD0DO00DO00O0DO0ODoO0OoOnD bOoOoodYyVOODOOODOOOO oM
00000000000 000UOooOoU0ooO (booooo)o

oM

=5V

000000000000 00000000 p(x,t) 000000000000 0OOOOODOODOODOOUODO
ooo0OQoOoooooooooo

00000000000000 LOOD0O BOOOODOOODOOO DOOOOOOOOO (D0OO30000
000000000 100000000000000000O0)000 DOO0OO&dDOOOOND LUODO
00000000000 DO0O0O00O0 BOOUOOOOOOODOODOOUODOOOO p(x,t)000 BOOOO
00 (000000)0o0o00UO0o0O BOUOOOOUOOOUOOWOOOODOOODUOOOOOooooo
00 (D0000)0o0o00o0o0000o000o0o0o0oUo000 p(e,t)D000O0O0ODOOOOO



000 (000000) 0000000000000 DO0O0OUDODOOUODOO p(xe,t)D0000OOOO
000 (p(x,t)0 80000000 000000O0 DOOOODOOOOOOOOD p(x,t)00000OOO
oo00oO0oO0ooooo0oO0Oosd0 LO00O0O0000O00o0ooooooOOoOoooooooODoOoOOoo
ooboobooobooooobooooobooobooobooooooboooobooboooboobooooboOooonog
00000000 (0000000000000 00DO)AOO0O0O0D0D0DDO0O0O0O000OO0O0OOOOO00O
ol d

ALK L

oo00o0oO0ooOooooOoOoOoOoOooéooo0ooooooooooDoooooooooDOooOoOoo
0000000 p(e,t)0 /0000000000000 0O0O0O0O0O0O0O06O a00b(MKa, bk L)
O000000O00p(x,t)0 800000000000 O0ODO0O0UOOO0 DODOOOODOOODOOOOOOO
uooobobooboooo

O0OQUOOODOOswOOD DOOOOODLODOOOOOODOOOOODOOOOOOOODO 6V =0
0000000000000000000 QUDUOUDOOO0 p(a,t) O

pl@,t) = Hm o )

O0000o0o0o0O00000000000000000000000000000000OdVOOODODOO
00000000000000000000000000p(x,t)00000000O0O0OOOODOOOOO
0V -0000000000000000000000000000D00000000000000Op(x,t)
060e00b00000000000000«0000000000000 (continuum hypothesis)0 O
00000000000 (1)oooooooUuoooooD0oo0ooO0oo0o0oUoOUOoDoooooooo
00000o000ooOo0o0ooooooooooooo

0000 (D0000000)0000000000000000000 (Knudsen number)K,, 00000
oooopooooo

A
K,=2
L

oooobooboooooboboboD Kyxkloobooooooboog

gd
oboooooobOoboboooooooooboobobooooooobobobooobooooooong
O000000000000000000 (configuration) 0000000000 (reference configuration) O
boooboooobooboooooooo

gogooobooobo

000000000000 0000000000000 (deformation) 000000000000 OOOO
0000 (00000000)00000000 (0000)000000D00000O00DOO0OOO
o0oboobooooooooboo tyOOo KLODODOODOOOODOOt>tyODOO POOODODOO
0000000000000000 RO0OOD0 XOPO xO0UOODDODODOODOOOXOOOOO (material
coordinates)0d x 0 00 OO (spatial coordinates) 0000000
gogobobooobbboooobbooobbooobboooobbooobbbobooobyobo
0 X0O00+tO0O00O0O 0000000000000 0ODO0O0ODO fOOD0ODOOCOO



z=f(X,1), f(X,to) =X

000000000000o00o0o00o0U00000o00o0o000 10 (0000000 D)00000
000000+¢(,LOO000000000000000000 f(X,t:tp)0000000O0O0OOOOOOO
000000000000000000000 0 X,t0000000000000®(X,t)00000O0
0000000000000 XU00OOUOO0OOUOoOOoooOoOooOoOoo (material description) O O
000000000 Lagrangian descriptiond 0O 00 OO
O000000000:00000000000000000 (spatial description) D00 000000 Euler
description0 00000000000 O0O0DOOO0O0ODOOOOOOOOO gOOOO

X =g(x,t)

0000200 XOOOOOOOOOOOOOO ¢0 ¢(x,t)D00D0O0000O0ODO0O0OOOOOOOOO
0000000000000 0O000000oDO0o®(X,t)=9¢(x,t)0000000O0OOO0OOOOOOO
oo

(I)(X>t) = ¢(f(X7t)7t) ) QS(:BJ) = CI)(g(iL',t),f)

oooooboog

0 ¢(x,t) 000 E(x,t)000 B(e,t) 0000000000000 O0O0OO0OOOOOOOOOOOO
000000000000 (ield) 0D0O00OO00D0OO0O0OO0D0O00OO v(e,t)0000 (velocity field) O
uboooboboooobobooboooobooooboboooobOoooooobooooonn
ooooonD f,g0O0OoOoOoQOOOODOOOO

r=z(X,t), X = X(x,t)

oooobood

oooQ
030000000000000000 e =(1,0,0), ez =(0,1,0), e5=(0,0,1)00000000000
000000000000 X00O0OO0O 020000000000000000000

00000 X000 ¢ 00000000000000000000 &X,t)000000 X00000
000000000000000

do(X,t)  0D(X,t)
o T )X

X000000000000000000 ()x000000000|x0000000000000000
0000000000000000000000 (material derivative) 000 O

DO(X,t)  9B(X,t)
e ot )x

0000000000000 0 x=f(X,)000000000000000OD W00 0000000



Of (X, Df(X.
V(X,1) = (710(& Dig = 7105% t
001000000000000
PF(X, ov. DV
A(X,t) = (71:8(152 t))X = (W)X =0

gboobooboobgoooboooobboboboobooboobooo
O00000¢(x,t) 000000 = (21,20,23) 0 ¢t 0000000000¢t00000O00O0O0OOO0OOO

d¢(w7t) d¢($1(t),$2(t),$3(t)7t) _ a¢(w>t) + %(%1)(3370 %a(b((l:,t) %&b(az,t)

dt dt 8t 815 8$1 8t 81‘1 815 8x1
_ 0¢(z,t) Oz
~ o veé

ubooobobo 00000000000 OOODOOOOO0

oo(x,t) _ (&b(m,t))
ot ot "

000000000 ¢(,t) =d(X,t) 000

99(X, 1)
ot

_ do(x,t)  O0p(x,t) Oz
oAt ot +8t Vo(e,t)

( )x

r=f(X,t) 00 XO0O0O0OOUOUOOOOOUOOOO 200 0000000000000 OO0OOOO
00000000000 XUO0O0O000O ¢(x,t) 000000000000 (0¢/0t0 x0000000OO)O
gooobuooboobgoobgooboobobboboobooboobooboooboon
00000000000000 «,t000000000000»w(ex,t) 00000000000 0000
goooooo

_dx Jxz(X,t)
'l)(:]},t) - % - ot - V(Xat)
gooobooboogd
do(x,t) _ 0¢(x,1)
@ - o Tvve
ooo0obobboooooobobooooooooooo
Do(x,t) 0

obooobOobooobooboooooonoa



d 0 Dv 9V
t) = — t) = (=— . t)=—=—=A(X,t
a(@,t) = S v(z,1) (m4ﬂ’VW@,) Dt = 5t (X,1)
000000¢(z,t)0 v(z,t) 00000
gooooooooooooooobobooboooooooo1booooooooooooooooooo oo
00000000 XO0000o0o0o0o0o0o0 v(X):aXDDDDDDDDDDDDDDDDDDDDDD
O00o0ooooooooooon

v(X) = DBtI(X’ t) = (%IE(X, t)x =aX

000000 2(X,t) 000000 t=002z=X00

(X, t) =aXt+ X

0000000000+ 00000000000000000 X020000000000 (000 X =
X(z,t)0000)0000

x=(at+1)X
X:atil
000 »(X)0000
v(X)=aX = oztail =v(z,t)
gogoood
gogooooo

000000000000 000 200000000000 (body force) 00 OO (surface force) 0 0 0O O
gdd

0000000 (00)00000U000O00O00O00U0000U0OO00O0DO0OOODOoDOoOOoUOooOo
goobboooobboooobbboooboooub bbb bbb booobbooOooo
oooooboobooboobooobooooooboobooooobooobooooboobooonog
obooobooooboooboobooooOoobooo 2000000000000 020000000000
oooooU0oUoU0oO(0ooooo0ooDO0oDO0ooOUOoUOUO0OOL)D0OO0DO0ODO0ODO0OO
uoogog
gogobboooobbooobbboooobbboooobbobbooobbbooobLbLboobo
000000000 ROOOOOOOsVOOooo poooo

Fy = f(:c,t)péV

00000000000000O0 f(x,y) 000000000000 O0OCOOOOOOOOOOOOOOOO
ooooosvooooooooo



.. Fv . Fy
Fla,t) = lim ~50 = 0, 57

ooooOoOoOoOsMOOODOODODODOO

oo

0000000000000 0000 (stress) 0000 OOOOOOOOOOOOOOOOOOOOO
0000000000000 000000000000000 (stressvector) 000000000000
traction0 0000 00O traction vector 10D 00000000000 DO0O0OOO (stress) 000000
0000000000000 0000000D0D00000AOSstress vector 00O OO traction vector 00O O O
O00000Ostress vector 00 OO OOOtraction vector 0 DD D 0DO0DOOO0OOOODOOOOODONO
00000000 o0o0oooooooDooooDoooDoooooooon

00000 SO00ood0o00D0 QLUUDODOUODODUODOD AFsO0DO0ODODODODOOODOOOd
00000000o00000o0000oo0oDoOo ASODoO0ooooooooooooOoonn 4

AFg

= Ag

ooooooOo0OQoOOooooooooO AS—oODOOOOOOO

AFg

T = 1m
ASS0 AS

0000000000000 0000U000O00O0O00U0O00 (ASOOUOO0O AFsO00D0DO0OUOOOODO
0000 ASO0O000O00O00000O0O0OoO0OO0O0oUooOoloooooooO)O
0O000o00ooo00Do 10000000 0DOO0ODODOO0ODOOODOOOODODOOOODO SO0
0000000 »n0O000000O0O0O000 (nOOOOOOO0)OOO0OOOUOD (—mOO00O0OO0OO)O
0000000000000 -000000000000000O00OOO0 (DO00DDOO0ODOO0O0OODOO0
0oooOo)o
gogoobbooooboooobbooobboooubbooobb bbb buoobbbooobo
ooboooooooOooooooobooooooooboooobDoobooobooboob IDoo 1Iog
o0O00obOo0O0bO0o0bD zyODOOOOODOOID 200000010 z2000D00000DOODOO
000000 -00000000000000000O0O0000D0 (ODO0)OOO IoO)oOoOooooOOo
godoobbbboooobobbbbdo z:000oguobbobobo

00 SO00QUOO0D-00QUOCOOU0OO0OO0O0O0000O0000000000O (normal stress)O
0000 (tangential stress) 0000 (D000 0000000000000 000000000 =y
00000000000000)00000000000 (shear stress) 00000000

oooobooog
0000 SO000 QLOO00O0O00 ASOO0OO0OO0 AFsO00D000DOO0O00DUODOOoOODO

AFg

7= Jim oo (2)

00000000000 00000000000000 (Cauchy’s stress principle) 0000000000
00000 QUUO0O0O0O0O0OO0O0OOOoog S,8,..00000(R) 00000000000 oooo
000000 (Do00o000o0O0o0UO0U00O000 (2)000Do0O0o0DOU0DO0OO0)DD0D0OO0DO0oDOUOO



QOOO0O0O 5,5,.. 000000000000 QUOOOOODODO0OOOODOO0OOOOOoOoODOOOO

oobooboooooboooboooboobooooboooboobooooboooooboobooooboooonog
ooooboog

ocooooooooooooboooobooooooUuo 000D —70 mO0OOODODOOOODO
gooooboboooobooobooboooobor,—70OO0ODO

7(—n) = —-7(n)

gooooo



